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2. 3K [(inx)® dx. (A)-é—(lnx)’ +C (13)-:-(1”)s +C (O)x(lnx)* -6(nx)* +C (D)x(nx)* -6 fanx)y’dx @)L BRI

5. B [—a=? W] ®)-bf| ObY ©-p ©BK

4. 3% fsin’xdx:ii-{l—%fg-oii+ifsin‘xdx Rl a-b+c-d+e= (A)l (B)3(C)5 (D)7 (E)9

, 8x 8 __ 8 .
5.8% f(x) = arcsin V1- 64x* » HI| f (x) (AL~ o J — (B)le N (C)l— e D) Teis? (E)L &3k

HEET—H

£(3 2 1)H




MIEILEEEE 80 MR 1 EHLRERS (GR)EMR

% & £ H IS % B H M A o o3 £

OFEEABUENL_3 R - MDTEBREREHERGE - B RmE BRI DRI B35 -
OFSRABBI LN (B - (%) - |

lﬁmviy”’ » Rx €[0,1J4713 » BLERET y BT P R IS (A)% (B)% (C)f <D)§ E)LL L3k

) |
7.smfsaf(x)=(;)(x~2)”’&&&5[2,4]&52911&@ length)£5 (A>-§-[(3)”2—1] (B)6 (C)6+§(2)3” (D)%(Z)”’ ®L

EEIE
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s. m® f(x,y)=3x +y —9x+4y 75— {HE R M (critical points) p + g HI
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6. NBVERS—EERIMER SRR FARE - — K L B iR 5 o S N R R R I R R B AR
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